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1. The	value	of	2	+	9	is
(i) 10 (ii) 12 (iii) 9 (iv) 14 (v) 11

2. The	value	of	15	−	19	is
(i) (-3) (ii) (-6) (iii) (-5) (iv) (-4) (v) (-2)

3. The	value	of	5	✕	18	is
(i) 91 (ii) 93 (iii) 90 (iv) 87 (v) 89

4. The	value	of	100	÷	5	is
(i) 23 (ii) 21 (iii) 20 (iv) 19 (v) 17

5. The	value	of	19	+	15	+	8	is
(i) 42 (ii) 41 (iii) 44 (iv) 40 (v) 43

6. The	value	of	2	+	17	is
(i) 18 (ii) 19 (iii) 17 (iv) 21 (v) 20

7. The	value	of	14	−	18	is
(i) (-7) (ii) (-3) (iii) (-2) (iv) (-4) (v) (-5)

8. The	value	of	6	✕	7	is
(i) 41 (ii) 43 (iii) 39 (iv) 45 (v) 42

9. The	value	of	256	÷	8	is
(i) 31 (ii) 33 (iii) 35 (iv) 32 (v) 29

10. The	value	of	7	+	8	+	5	is
(i) 19 (ii) 23 (iii) 21 (iv) 18 (v) 20

11. The	value	of	11	+	16	is
(i) 26 (ii) 28 (iii) 27 (iv) 30 (v) 25

12. The	value	of	15	−	5	is
(i) 13 (ii) 10 (iii) 8 (iv) 9 (v) 11

13. The	value	of	13	✕	19	is
(i) 250 (ii) 246 (iii) 244 (iv) 247 (v) 248

14. The	value	of	441	÷	7	is
(i) 65 (ii) 62 (iii) 63 (iv) 60 (v) 64



15. The	value	of	18	+	18	+	17	is
(i) 51 (ii) 54 (iii) 52 (iv) 55 (v) 53

16. The	value	of	8	−	8	−	19	is
(i) (-19) (ii) (-18) (iii) (-21) (iv) (-20) (v) (-17)

17. The	value	of	3	✕	20	✕	15	is
(i) 899 (ii) 900 (iii) 897 (iv) 903 (v) 901

18. The	value	of	9	+	18	+	8	+	15	is
(i) 51 (ii) 50 (iii) 52 (iv) 48 (v) 49

19. The	value	of	1	−	8	−	3	−	10	is
(i) (-20) (ii) (-19) (iii) (-22) (iv) (-17) (v) (-21)

20. The	value	of	6	✕	4	✕	14	✕	16	is
(i) 5374 (ii) 5377 (iii) 5375 (iv) 5379 (v) 5376

21. The	value	of	10	−	1	−	8	is
(i) 3 (ii) 0 (iii) (-2) (iv) 1 (v) 2

22. The	value	of	12	✕	12	✕	11	is
(i) 1583 (ii) 1584 (iii) 1585 (iv) 1587 (v) 1581

23. The	value	of	20	+	16	+	2	+	2	is
(i) 38 (ii) 40 (iii) 39 (iv) 41 (v) 42

24. The	value	of	4	−	8	−	16	−	10	is
(i) (-29) (ii) (-31) (iii) (-28) (iv) (-30) (v) (-33)

25. The	value	of	19	✕	6	✕	9	✕	18	is
(i) 18467 (ii) 18468 (iii) 18471 (iv) 18466 (v) 18469

26. The	value	of	3	−	3	−	13	is
(i) (-14) (ii) (-12) (iii) (-10) (iv) (-13) (v) (-16)

27. The	value	of	17	✕	16	✕	15	is
(i) 4083 (ii) 4080 (iii) 4078 (iv) 4081 (v) 4079

28. The	value	of	9	+	8	+	12	+	17	is
(i) 46 (ii) 45 (iii) 47 (iv) 44 (v) 49

29. The	value	of	1	−	12	−	10	−	9	is
(i) (-29) (ii) (-27) (iii) (-31) (iv) (-33) (v) (-30)

30. The	value	of	15	✕	15	✕	14	✕	20	is
(i) 63000 (ii) 62999 (iii) 63001 (iv) 63002 (v) 62997



31. The	value	of	20	−	6	−	3	is
(i) 11 (ii) 10 (iii) 12 (iv) 8 (v) 14

32. The	value	of	11	✕	5	✕	17	is
(i) 932 (ii) 934 (iii) 935 (iv) 936 (v) 938

33. The	value	of	9	+	2	+	12	+	19	is
(i) 42 (ii) 39 (iii) 43 (iv) 44 (v) 41

34. The	value	of	12	−	18	−	16	−	17	is
(i) (-36) (ii) (-40) (iii) (-38) (iv) (-39) (v) (-41)

35. The	value	of	10	✕	11	✕	13	✕	4	is
(i) 5719 (ii) 5721 (iii) 5718 (iv) 5722 (v) 5720

36. 4	+	______	=	22
(i) 15 (ii) 19 (iii) 21 (iv) 17 (v) 18

37. 10	−	______	=	(-1)
(i) 11 (ii) 9 (iii) 10 (iv) 13 (v) 12

38. 12	✕	______	=	132
(i) 12 (ii) 11 (iii) 10 (iv) 8 (v) 14

39. 576	÷	______	=	48
(i) 15 (ii) 11 (iii) 12 (iv) 9 (v) 13

40. 17	+	______	=	36
(i) 22 (ii) 17 (iii) 18 (iv) 19 (v) 20

41. 19	−	______	=	13
(i) 3 (ii) 8 (iii) 7 (iv) 6 (v) 5

42. 3	✕	______	=	12
(i) 4 (ii) 6 (iii) 2 (iv) 3 (v) 5

43. 400	÷	______	=	40
(i) 11 (ii) 12 (iii) 10 (iv) 9 (v) 7

44. 18	+	______	=	37
(i) 19 (ii) 22 (iii) 18 (iv) 20 (v) 17

45. 10	−	______	=	9
(i) (-1) (ii) 4 (iii) 2 (iv) 0 (v) 1

46. 7	✕	______	=	126
(i) 18 (ii) 15 (iii) 17 (iv) 20 (v) 19



47. 441	÷	______	=	63
(i) 10 (ii) 8 (iii) 7 (iv) 6 (v) 4

48. 20	+	______	=	38
(i) 17 (ii) 19 (iii) 18 (iv) 15 (v) 20

49. 16	−	______	=	10
(i) 6 (ii) 9 (iii) 3 (iv) 7 (v) 5

50. 15	✕	______	=	30
(i) 4 (ii) 1 (iii) (-1) (iv) 2 (v) 3

51. 400	÷	______	=	40
(i) 7 (ii) 11 (iii) 9 (iv) 10 (v) 13
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